cef 3ol - Letlore #4 (1)

HQMWLOLL z(f@“y" v efa}@o( 5'6,— Of Gomﬂ/@( 6%/9014@44 ;‘a:/s

’JL&O& = (o5 LODZ' = JS;VL w()zj

XG:): e
‘]Oefimb(l
T MZQM@WM Yevied Ty —

o

} X(L)’ ;(@'-}—I:) e f@f all  values Qﬁ H;
oy o 13 e swallest wwidper 50k Hm}
Ygs  Wolds -

@on% _ e(ﬁ‘%@"fﬁ) FO'/ le &
/(z,dg',f 6(’7"%(}:

£
= £
(’,ﬁoo’\‘; S l — MJ:-\: 5 a MLE/?LIP/(E
=7 & . af I



(2)

pum—— =

s 1o 15 md-ﬁ/y/e Of Lo
ot To 5 A gmallest waaber soch tal
s Lolds

= T. = AX Lo iﬂfUM?aMMOU/
. hopueecy

C Tkt ] s o ool

\fd&}eo! (lowﬂ/ex (i;g?oww[ CJ)%

K is an  imdex
Assome asifive

LOK s k a)({ ¥u :,xozdtmeufd/ ?GWOQ[

l LT -
[ ey 1 T = s 1o
%@)" 4 <t =y T feleo, k]

¢, (1) 5 hoice as fast s gb,(g)




(%)

-4 #F -4 x5

X[ |

— X E"‘I

X7 E"'Ll

‘lg 5[]



Disewele- Tiwe Complex 2 X00u enbials 4)

o, Hhe8e

s (oS W, + J6IVL () N —> //LMS 5,(:7514'@/
mey bhe peiodic or ot

o |
55 o b depeding ow Yl valye
ot Lo,
/A\/47A 2
S
% Ly A
|




o5 Jww +J—5M LT W

=4 for all n
—7 %Xg Eu:& = X U/\I
n Discreke Time, shaftivg e fondamedaf
r\’"ég'“é”%f Zﬂj D vesolts im MRae St
jﬂ"@?%@ﬂ@%
— Al e ?f%u@m% valices i O

ot ove i the vange [0, 27)



wl/wdl ave, ‘Ha@ ?@w fmguceuz ¢es (é)

—

T ——
——

X[v:&: 6%‘3‘/"
tonstand . for |20,= 0 [

LQLC%/' fm? U Pn %&

Whad 2 ave Yae M{gh ?wec;u@/tcﬁ@s'?
G| = Jede]
I .

\Cas o, mt J v LOM]

= \E’,OSZMZ{,W‘} Sivczwﬁ,vt - ]
M A X (bt @[’Lﬁm J@ wgﬂpe%ﬁ Whea x Z:CL:(
‘SW‘W@S be}“ﬁ(«@% ’ Q/%o] &)@/&( pQWJ—

M HM@



6ﬂ¢’om (ﬁ

At wlach vadee Of c_do?

(0§ O, A4 ¢ Sin wywn

/

| o= | Highest DT -ﬁf\e%'aeqc#




) (5
\ng__l_.y we g0 frowe the lowest o

\/‘48 L‘efﬂL flfeﬂu@m%{’ as e mCre 4se
2O F\fO " @, ﬁ—O w .

/ _
QU/L()) ’HA@/L AfQWL "H/L'@ 1/\43}41%% ro

)Ouﬂ%J( Fb@%%én(ﬁ% 44 we Je&wé@

LOg '§VQM w o O.




b has a /ﬁumi N
XE”\]‘: e(ﬁ%m
Jle [ N] for all walees of w

dfwbw ; 6{7-40{3 (wt\\)) 'EOM all valaes Qf)m

7@@6 L C/%D N

s €
//605 e,c)o]\} TJS’IVLW]\T\/
fwm

N

— &
K/ lwteqer
= wo N - £ D

¢y diona




6@“ /5 peﬁoaf;a :’f Qe ol OM.%[ {f (Jo)

,ﬁo 1S a lfdili@maj m/ocm/ée/
T

—

?OZM @Mem/ﬂ/@

tJy =W »
w N m
ej“ ’ 2 . N
T
/ =5 =T
?@fiaq(;c,
it )76’1/‘/00/ 2
ol e TWE . 3
% 3
i
/ = N=4
Deriedic

Wi\’L% p&fiogt H



